QUESTION

TEN POINTS FOR EACH
1. PI‘Elet the shapes for the following:
a) [iCLi] b) [CGCI ]2”’ c) [Nn(CO)dl d) NO

2, Usmg Slater's mles, detérmme .Z"'"‘ fc;)r a 4s and 3d electron of Cu thh
typa of electron is more 11k&1y to be lost when copper forms a positive ion?

PC] is o stable molecula, but NC! 13 not. Explmn.

4, Dzaw and determma, the pomt gmupf; of the f‘ollowmg atamw 01b1tals.

a) p, h) d ¢) d

8, Prepare a molac;ular orbltal energy 1evel diagram for NO shéﬁ}iﬁé clearly
how the atomic orbitals interact to form MOs. Predict the bond order of NO
and NO* and the number of unpaired electrons. .
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6. ' Csl is much soluble in water than CsF, and LiF 18 much less soluble than

LH Why? L L e wilils
[CQ(HEO)A a strong 0x1dtzmg agent that wﬂl omdme water, whﬂe
{Cﬂ(NHs)ﬁ]”‘is stable in aqueous solution. Explain this difference.
8. Sketch all isomers of the following: ]
a) [Pt(NHS)BCl] b) Fe(exalate)sl c) [Pt(NHs)IClij i spin o

cemplex 10n [Cr(CN)ﬁ] 18 mert Explam
10, Draw structure for the following: . g
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a)Ferrocene b)Metalloporphyrin E:)Zleglc:r»Natta catalyst d)Wllkmsen complex
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